Addition

Name:

Warm Up
1) 35+100-= 4) 109 +100=
2) 89+100= 5) 628 +100=
3) 256+100 = 6) 784+100-

7) 895 +100=
8) 906+100 =

9) 938 +100 =

1) Spencer had 239 boxes of strawberries. He
bought another 100 boxes. How many boxes of
strawberries does he now have?

6) 603 ducklings hatched in the morning and 100
hatched in the afternoon. How many ducklings
hatched alfogether?

2) Tony has 33 goats. He buys 100 more. How
many goats does Tony now have?

7) 877 passengers were on the train. 100 extra
passengers got on the train at Mortdale station.
How many passengers were now on the train?

3) Bridget counted 639 sheep and put them in
the pen. Then she added 100 more. What is the

total number of sheep that Bridget put in the pen.

8) Cassandra planted 367 fruit trees on her farm
yesterday. She planted 100 more today. How
many trees has Cassandra planted altogether?

4) During the sale only brown and black
chickens were sold. If 100 black chickens and 431
brown chickens were sold, how many chickens
were sold on the day?

9) Madge has 198 chocolates. Stella has 100.
How many chocolates do they have altogether?

5) Saul packed 271 boxes of mushrooms on
Saturday. He packed 100 boxes on Sunday. How
many boxes of mushrooms did he pack on the
weekend?

10) Katie is a hat maker. She made 617 hats from
Monday to Saturday. On Sunday she made 100
more. How many hats did she make that week?
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